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Answer the following questions :

Ln Choose the correct answer from those given :
[1]If the mode of the values 5 58 56+ X 59189 sthen X = -evvvveve
@5 (b)6 (©3 )8
[2] The volume of a cube is 27 cm? » then the area of one of its faces is -

(a) 3 cm? (b) 9 cm? (c) 36 cm? (d) 54 cm?
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(3] The slope of any line parallel to X-axis equals -

(a1 (b) undefined (c)-1 (d) zero
(4] The multiplicative inverse of 216/3 St aa

@ VE ()6 ©) VE (d) zero
BQUQ = e

-2 ®)0 ©R @z
6)If (-1 > 5) satisfies the relation 3 X +ky =7 sthenk = ---eeevreene

(a) 5 (b) 6 (c)2 )7
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(7] The smallest prime number is <

(0 b1 (©)2 @3
(8] If the mode of the set of values 4 5 11 58 52 X is 4 sthen X = --vvvvvnnes
(@2 (b4 (©)6 (d)8
9]If (2 » 5) satisfies the relation 3 X +y =c sthen ¢ = «wroeeeves
(a1 (b)-1 (11 (@-11
10| The solution set of the equation XZ+9=0inRis rrrereees
@@ ®{-3} ©{3} @{3,-3}
1] The lower limit of a set is 4 and the upper limit is 8 » then its centre is -
(2)2 (b)4 (©6 (@8
2)4.274 = - (to the nearest 1—10—)

(a)4 (b)4.2 (c)4.3 (d)4.27




